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(1) Bk y=f(x) DHEZ S a OIEOFFEZ KD L. BRED 572 555 (2, IKOWT, UFORUMIER & —ELTEED L 8DOMBA~BE L& X/ —L%KT L, 82BAIMITHONT
@) B y=f(x) BHHEA 5 @ (K LT, B y=f(2) 13 2=p CHIKIE, xr=q¢ T |1) 2z, kL. FEORIZTRES. 12& 213, TORETI BHFEE, 855 27T 6 ~BET5.
BNMEZ L5 55, Bl y=/(0) DFF7ED2EP(D, f(), Qe F@) ER |2) F<COEDEH m e T, 2y, =221 Lip o & ATt BB, VA a0l 156 ETOANERETIDLOLT S, FANLIRDT, Yo
FIRROUE m & @ ERTRE @) WM 2, NETHIITHO AL P, ET5. Py Poyyy Prpk3HALTH= |70 E N ERTRALLXICBABHLCT— MR TT DAL p, £55<.
I OEREE KD k. (1) py%ked L.
@) pymsR L.
1) f'(x) =3x>+2ax+3a—6 3) py sk k.
B y=f(2) BHfEZ O HORBESEML, f(2)=0F8bb 1) #eREZHT DL 2,0+ 1=(1+i)(z,+]1)
7 n+ - n
3224+ 2ax+3a—6=0 - D BRI B 2 >OESE b O L Th 5. $7 241=341=4
EoT, OOHEE D LT BL 2 =a’~33a—6)>0 £oC, BB (2, +1) PR, A 1+i OSHHEFITHS. @) 1ERORZ e, 2EAQRAES THEZ L& (0, b) TRY. 2HATS —hEHK
w Srie 2, +lmte(lpprt TH20, LEHE 2[EHOHOM 8 DERETHLMD, (2, 6), (3, 5),
BHTLLE (a—3)a—6)>0 " . @, 4), (5 3), (6, 2 D5iEY.
D2 a<3, 6<a £oT 2, =41+ -1 . 55
@ p gl ()=0T72DHLDOD2ODHTHS. @) 2gur=414)" P —1=4(1 4+ —1 °C h=E T
i L AFERDOBURIC L 0 p+q=—%a, pg=a—2 ST (14iP=142i4i%=2 @) 3EETY—ARKTT201E, 2EATY =LK T LTHELT, 2, 3, 4, 5,
(1+l>8={<1+l>2}4=(21)4=24 6, 70)1/\?“75‘@’{&[%&:‘/\“(, BEE@:%H%Z‘WS, 5, 4, 3, 2, 1@975)53'5&5'2/5\
_flo—fp _ 1 (45 2 42 N
J:OT m= q_p _q—[rl(q —1))+a(q —[7)-}—(30—6)(4—[7)} Ct,)—( zsm_7=4_(24)m—1_1=24m—2_1 VC&JE} 1 31 1 31
=@+ ap+ptalg+p+3a—6 @ MBS |2,0— 2] =|401+i) =40+ | =41+ =4(v2)" e L R 1T
={(p+0°—pa)+alp+q+3a—6 EoT |2psa— 2ni] =4(2)" () @ rRIcELT
2\ 2 S
=[<—§a> —<a—2>}+a(—§a)+3a—6 zzv == pom b X = byt D= g 1=
) ) argfaTfnst _ e (b (" o 1-(4i)
=§a2—a+2—§a2+3a—6 20— 241 Q4" — (149" A+2—=1+9)
1-1—i —i i e 1omo
=—2a2+2a-4 SArE T oy TATEGIy TAre oy S =I
Sq Sq LiMoT, KD HEMIT
f(x)dx Ix—px—qdx
_Sa=/) _Js _Js AP,P, Py s =t X A(/Z)" X AT ) sin 135° =8 X 2" X — X — = 21+
m= q_p = q_p = q—[) nt n+1d n42 2 ﬂ ﬂ
__1 R SO N SO T § 2
=25 x3x | —gla= | = —5la—pP=—5{p+ 0*~ 41rq
DS (200 L YO N DR U i 2,200,
— 2[( 3a> Aa 2>]_ 2<9a 4a+8>_ cat+2a—1




AR KT 200440 AR

[(7]omms1] &\ 2 A0 B2 RERE BB 5372004 %05 1 1A B (3 251]
P 2 r D B ORE FRERE EOHRICBET 55— L5 E2 5. =L, 8%
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(1) p, &k kL.

(2) Py HRD L.
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S5_5

67 36

@ 3EBTY—ARKTTH0E, 2HET, F—A/METLTRLTS 3, 4, 5,
6, 7 OVFRAORIEICNT, 3EFICZNZNG, 5 4, 3, 2, 1OARHLHA
Th5s.
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2°—2a 20 —2b
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a—1 b—1
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f(x)

_ 2" =2
T ox—1
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S0 = 1 =
ZOnT% glx) ={(x—1)log2 —1]2"+2 L B &

9'(x) =(log2)2*+{(x—1)log2 —1}-2*log 2 = (x — 1)2*(log 2)*

LBE, 0<a<1IiZBITD f(x) DL D.
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(x—1)*
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SEADF) f,(x), n=0, 1, 2, - 0, folx) =2, fi(x)=x,
fal) =afu1(0) = fua(), n=2, 3, 4, -
BT LT 5.

(1) f,(2cos@)=2cosnd, n=0, 1, 2, - THdHILERE.
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Lx, SZ Foulxydx OffE%RD k.
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T72bb  f,(2c080) =2cos kO

D
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E% 2 OWEAT5I b+ 5. B¥a, b, c d%h}iﬁ}&?‘éﬁﬂA:(Z d> 75

A =—E, b4e=0, b20 L5 &l xili-T T 5. £/, B=y3IA—E L5<.

1) 4751 A &k k.

2) B"=2"E %M/~ 1IEOEE n Th/IDOHDERD L.

3) EDEHE niZxt L B"=p,E+q,A Zhl-3FEK p, & q, 2R L.
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@»b  (ad+b*—1)E=0
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d=—a THoHhbH al—a)+b*—1=0

PZIZ (b+a)lb—a)=1

T2 (a+bla—b)=—1

b=0THDH1DH a+b=a—b

a+b, a—blIEHETHIND a+b=1, a—b=-1
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ZnLE ¢=-1, d=0
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